
• driftTimeUpLimit = 400 —> fails for two pion simulation @pt = 80 MeV

• driftTimeUpLimit = 600/650 —> fails for four pion simulation @ pt = 90 MeV


• driftTimeUpLimit = 1400 does not have these problems  
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CGEMBOSS665f: 4 pions simulation

Number of good reco tracks for each events



BOSS665p01: 4 pions simulation

Number of good reco tracks for each events

histoNTRK0
Entries  37925
Mean    3.647
Std Dev    0.9659

0 2 4 6 8 10 12 140

2000

4000

6000

8000

10000

12000

14000

16000
histoNTRK0

Entries  37925
Mean    3.647
Std Dev    0.9659

nTRK 0
histoNTRK1

Entries  47333
Mean    3.912
Std Dev    0.8263

0 2 4 6 8 10 12 140

5000

10000

15000

20000

25000

histoNTRK1
Entries  47333
Mean    3.912
Std Dev    0.8263

nTRK 1
histoNTRK2

Entries  55813
Mean    4.218
Std Dev    0.9089

0 2 4 6 8 10 12 140

5000

10000

15000

20000

25000

30000
histoNTRK2

Entries  55813
Mean    4.218
Std Dev    0.9089

nTRK 2

histoNTRK3
Entries  58723
Mean    4.346
Std Dev     1.004

0 2 4 6 8 10 12 140

5000

10000

15000

20000

25000

30000

histoNTRK3
Entries  58723
Mean    4.346
Std Dev     1.004

nTRK 3
histoNTRK4

Entries  59863
Mean    4.439
Std Dev     1.068

0 2 4 6 8 10 12 140

5000

10000

15000

20000

25000

30000

histoNTRK4
Entries  59863
Mean    4.439
Std Dev     1.068

nTRK 4
histoNTRK5

Entries  72765
Mean    4.046
Std Dev    0.4503

0 2 4 6 8 10 12 140

10000

20000

30000

40000

50000

60000

histoNTRK5
Entries  72765
Mean    4.046
Std Dev    0.4503

nTRK 5

histoNTRK6
Entries  73897
Mean     4.02
Std Dev    0.4065

0 2 4 6 8 10 12 140

10000

20000

30000

40000

50000

60000

histoNTRK6
Entries  73897
Mean     4.02
Std Dev    0.4065

nTRK 6
histoNTRK7

Entries  77586
Mean    4.039
Std Dev    0.3496

0 2 4 6 8 10 12 140

10000

20000

30000

40000

50000

60000

70000

histoNTRK7
Entries  77586
Mean    4.039
Std Dev    0.3496

nTRK 7
histoNTRK8

Entries  78220
Mean    4.028
Std Dev    0.3118

0 2 4 6 8 10 12 140

10000

20000

30000

40000

50000

60000

70000

histoNTRK8
Entries  78220
Mean    4.028
Std Dev    0.3118

nTRK 8

histoNTRK9
Entries  78562
Mean    4.025
Std Dev    0.3101

0 2 4 6 8 10 12 140

10000

20000

30000

40000

50000

60000

70000

histoNTRK9
Entries  78562
Mean    4.025
Std Dev    0.3101

nTRK 9
histoNTRK10

Entries  78651
Mean    4.031
Std Dev    0.3357

0 2 4 6 8 10 12 140

10000

20000

30000

40000

50000

60000

70000

histoNTRK10
Entries  78651
Mean    4.031
Std Dev    0.3357

nTRK 10
histoNTRK11

Entries  78824
Mean    4.046
Std Dev    0.3706

0 2 4 6 8 10 12 140

10000

20000

30000

40000

50000

60000

70000

histoNTRK11
Entries  78824
Mean    4.046
Std Dev    0.3706

nTRK 11

pt = 0.06 GeV/c pt = 0.07 GeV/c pt = 0.08 GeV/c

pt = 0.09 GeV/c pt = 0.1 GeV/c pt = 0.15 GeV/c

pt = 0.2 GeV/c pt = 0.3 GeV/c pt = 0.4 GeV/c

pt = 0.6 GeV/c pt = 0.7 GeV/c pt = 0.9 GeV/c



0 2 4 6 8 10 12 140

2000

4000

6000

8000

10000

12000

14000

16000

0 2 4 6 8 10 12 140

5000

10000

15000

20000

25000

0 2 4 6 8 10 12 140

5000

10000

15000

20000

25000

30000

0 2 4 6 8 10 12 140

5000

10000

15000

20000

25000

30000

0 2 4 6 8 10 12 140

5000

10000

15000

20000

25000

30000

0 2 4 6 8 10 12 140

10000

20000

30000

40000

50000

60000

0 2 4 6 8 10 12 140

10000

20000

30000

40000

50000

60000

0 2 4 6 8 10 12 140

10000

20000

30000

40000

50000

60000

70000

0 2 4 6 8 10 12 140

10000

20000

30000

40000

50000

60000

70000

0 2 4 6 8 10 12 140

10000

20000

30000

40000

50000

60000

70000

0 2 4 6 8 10 12 140

10000

20000

30000

40000

50000

60000

70000

0 2 4 6 8 10 12 140

10000

20000

30000

40000

50000

60000

70000

Number of good reco tracks for each events: Direct comparison

pt = 0.06 GeV/c pt = 0.07 GeV/c pt = 0.08 GeV/c

pt = 0.09 GeV/c pt = 0.1 GeV/c pt = 0.15 GeV/c

pt = 0.2 GeV/c pt = 0.3 GeV/c pt = 0.4 GeV/c

pt = 0.6 GeV/c pt = 0.7 GeV/c pt = 0.9 GeV/c

Boss 

Cgem

Boss 

Cgem

Boss 

Cgem

Boss 

Cgem

Boss 

Cgem

Boss 

Cgem

Boss 

Cgem

Boss 

Cgem

Boss 

Cgem

Boss 

Cgem

Boss 

Cgem

Boss 

Cgem



1− 0.5− 0 0.5 1
cos(theta)

0

100

200

300

400

500

600

700

800

900

1− 0.5− 0 0.5 1
cos(theta)

0

100

200

300

400

500

600

700

cos(theta)

1− 0.5− 0 0.5 1
cos(theta)

0

200

400

600

800

1000

1− 0.5− 0 0.5 1
cos(theta)

0

200

400

600

800

1000

pt = 0.06 GeV/c pt = 0.1 GeV/c

pt = 0.9 GeV/cpt = 0.15 GeV/c

cos(theta) distribution: cgemboss and boss665p01comparison

Boss 

Cgem

Boss 

Cgem

Boss 

Cgem

Boss 

Cgem


